

Kota, Rajasthan A Trusted Institute of GYANAM - IIT DPP JEE-Main|Advance|NEET INSTITUTE JEE-MAIN | JEE-ADVANCE $\Rightarrow \int (1+4x-x^2) dx = 2 \int mx dx$ $= 4 \int y \, dx = \frac{4b}{a}$ $\Rightarrow \left[x + 2x^2 - \frac{x^3}{3} \right]^{3/2} = 2m \left[\frac{x^2}{2} \right]^{3/2}$ $\Rightarrow \frac{3}{2} + \frac{9}{2} - \frac{9}{8} = m \times \frac{9}{4} \Rightarrow \frac{39}{8} = -\frac{9m}{4} \Rightarrow m = \frac{13}{6}.$ 0 Hence (A) is the correct answer. 7. (a) $\mathbf{x} = \mathbf{a}\mathbf{e}$ x = -aeIt is given that f(x) > x, for all x > 1. So, Area bounded by y =f(x), y = x and the lines x = 1, x = t is given by $=\frac{4b}{a}\left[\frac{x}{2}\sqrt{a^{2}-x^{2}}+\frac{a^{2}}{2}\sin^{-1}\frac{x}{a}\right]_{a}$ $\int {f(x) - x} dx$ But this area is given equal to $(t + \sqrt{1 + t^2} - t)$ $= \frac{4b}{2a} \left[ae \sqrt{a^2 - a^2 e^2} + a^2 \sin^{-1} e \right]$ $\sqrt{2}$ - 1) sq. units. Therefore, $\int \{f(x) - x\} dx = t + \sqrt{1 + t^2} - \sqrt{2} - 1$, for all t > 1 On = 2ab (e $\sqrt{1-e^2}$ + sin⁻¹ e) sq. units. differentiating both sides w.r.t. t, we get 10. (a) $f(t) - t = 1 + \frac{t}{\sqrt{1 + t^2}}$ for all t > 1(0, a)B ┃ $P(x, y_1)$ $\Rightarrow f(t) = t + 1 + \frac{t}{\sqrt{1 + t^2}}$ for all t > 1 $\sqrt{|\mathbf{x}|} + \sqrt{|\mathbf{y}|} = \sqrt{a}$ → x A(a, 0) Hence $f(x) = x + 1 + \frac{x}{\sqrt{1 + x^2}}$ for all x > 1. $\mathbf{x} + |\mathbf{y}| = \mathbf{a}$ Hence (A) is the correct answer. [D(0, -a) 8. (d) Clearly, $f : [0, 2\pi] \rightarrow [0, 2\pi]$ given by The shaded region in figure represents the region enclosed by $f(x) = x + \sin x$ is a bijection. So, its inverse exists. The graph $x^2 + y^2 = a^2$ and $\sqrt{|x|} + \sqrt{|y|} = \sqrt{a}$. From the symmetry, it is of $f^{-1}(x)$ is the mirror image of the graph of f(x) in the line y $= \mathbf{x}.$ evident that Required area = 4 [Area of the region bounded by the two curves in first quadrant only] $y = f^{-1}(x) (2\pi)^{3}$ $=4\int_{a}^{a}(y_{1}-y_{2})dx =4\int_{a}^{a}\{\sqrt{a^{2}-x^{2}}-(\sqrt{a}-\sqrt{x})^{2}\}dx$ $=4\int_{a}^{a}(\sqrt{a^{2}-x^{2}}-a-x+2\sqrt{a}\sqrt{x})\,dx$ $(\pi, 0)$ $= 4 \left[\frac{1}{2} x \sqrt{a^2 - x^2} + \frac{1}{2} a^2 \sin^{-1} \frac{x}{a} - ax - \frac{x^2}{2} + \frac{4\sqrt{a}}{3} x^{3/2} \right]^a$ \therefore Required area = Area of the shaded region = 4(Area of the one loop) = 4 $\left| \int_{0}^{\pi} (x + \sin x) dx - \int_{0}^{\pi} x dx \right| = 4 \int_{0}^{\pi} \sin x dx = = 4 \left[\left\{ \frac{1}{2}a^2 \times \frac{\pi}{2} - a^2 - \frac{a^2}{2} + \frac{4}{3}a^2 \right\} - 0 \right]$ 4 $[\cos \pi - \cos 0] = 8$ sq. units. Hence (D) is the correct $=\left\{\pi a^2-\frac{2}{3}a^2\right\}$ sq. units. answer. 9. **(a)** 11. (c) The required area The two curves meet where $\sqrt{x} = \frac{x-3}{2}$... (i)

www.igyanam.com

A frusted firstitute of
JEE-Main[Advance]NEET
$$DEP$$

DPP

GYANAM - IIT

$$= \left| \int_{1/2}^{2} (y_1 - y_2) dx \right| = \left| \int_{1/2}^{2} (2^x - \log x) dx \right|$$
$$= \left| \left[\frac{2^x}{\log 2} - (x \log x - x) \right]_{1/2}^{2} \right|$$
$$= \left| \frac{4 - \sqrt{2}}{\log 2} - (2 \log 2 - 2) + \left(\frac{1}{2} \log \frac{1}{2} - \frac{1}{2} \right) \right|$$
$$= \frac{4 - \sqrt{2}}{\log 2} - \frac{5}{2} \log 2 + \frac{3}{2}.$$

Kota, Rajasthan

16. (b)

Let P(x, y) be the point on the curve passing through the origin O(0, 0), and let PN and PM be the liens parallel to the x- and y-axes, respectively (Fig.). If the equation of the curve is y = y(x), the area



Area =
$$\int_{0}^{2^{2m}dx}$$

 $\Rightarrow (2^{kx}/((\ln 2)k)_{0}^{2} = 3/\log 2$
 $\Rightarrow 2^{2k} = 3k + 1 \Rightarrow k = 1$
 $2^{2k} = 3k + 1 \Rightarrow k = 1$
 $2^{2k} = 3k + 1 \Rightarrow k = 1$
 $2^{2k} = 3k + 1 \Rightarrow k = 1$
 $2^{2k} = 3k + 1 \Rightarrow k = 1$
 $2^{2k} = 3k + 1 \Rightarrow k = 1$
 $2^{2k} = 3k + 1 \Rightarrow k = 1$
 $2^{2k} = 3k + 1 \Rightarrow k = 1$
 $2^{2k} = 3k + 1 \Rightarrow k = 1$
 $2^{2k} = 3k + 1 \Rightarrow k = 1$
 $2^{2k} = 3k + 1 \Rightarrow k = 1$
 $2^{2k} = 3k + 1 \Rightarrow k = 1$
 $2^{2k} = 3k + 1 \Rightarrow k = 1$
 $2^{2k} = 3k + 1 \Rightarrow k = 1$
 $2^{2k} = 3k + 1 \Rightarrow k = 1$
 $2^{2k} = 3k + 1 \Rightarrow k = 1$
 $2^{2k} = 3k + 1 \Rightarrow k = 1$
 $2^{2k} = 3k + 1 \Rightarrow k = 1$
 $2^{2k} = 3k + 1 \Rightarrow k = 1$
 $2^{2k} = 3k + 1 \Rightarrow k = 1$
 $2^{2k} = 3k + 1 \Rightarrow k = 1$
 $2^{2k} = 3k + 1 \Rightarrow k = 1$
 $2^{2k} = 3k + 1 \Rightarrow k = 1$
 $2^{2k} = 3k + 1 \Rightarrow k = 1$
 $2^{2k} = 3k + 1 \Rightarrow k = 1$
 $2^{2k} = 3k + 1 \Rightarrow k = 1$
 $2^{2k} = 3k + 1 \Rightarrow k = 1$
 $2^{2k} = 3k + 1 \Rightarrow k = 1$
 $2^{2k} = 3k + 1 \Rightarrow k = 1$
 $2^{2k} = 3k + 1 \Rightarrow k = 1$
 $2^{2k} = 3k + 1 \Rightarrow k = 1$
 $2^{2k} = 3k + 1 \Rightarrow k = 1$
 $2^{2k} = 3k + 1 \Rightarrow k = 1$
 $2^{2k} = 3k + 1 \Rightarrow k = 1$
 $2^{2k} = 3k + 1 \Rightarrow k = 1$
 $2^{2k} = 3k + 1 \Rightarrow k = 1$
 $2^{2k} = 3k + 1 \Rightarrow k = 1$
 $2^{2k} = 3k + 1 \Rightarrow k = 1$
 $2^{2k} = 3k + 1 \Rightarrow k = 1$
 $2^{2k} = 3k + 1 \Rightarrow k = 1$
 $2^{2k} = 3k + 1 \Rightarrow k = 1$
 $2^{2k} = 3k + 1 \Rightarrow k = 1$
 $2^{2k} = 3k + 1 \Rightarrow k = 1$
 $2^{2k} = 3k + 1 \Rightarrow k = 1$
 $2^{2k} = 3k + 1 \Rightarrow k = 1$
 $2^{2k} = 3k + 1 \Rightarrow k = 1$
 $2^{2k} = 3k + 1 \Rightarrow k = 1$
 $2^{2k} = 3k + 1 \Rightarrow k = 1$
 $2^{2k} = 3k + 1 \Rightarrow k = 1$
 $2^{2k} = 3k + 1 \Rightarrow k = 1$
 $2^{2k} = 3k + 1 \Rightarrow k = 1$
 $2^{2k} = 3k + 1 \Rightarrow k = 1$
 $2^{2k} = 3k + 1 \Rightarrow k = 1$
 $2^{2k} = 3k + 1 \Rightarrow k = 1$
 $2^{2k} = 3k + 1 \Rightarrow k = 1$
 $2^{2k} = 3k + 1 \Rightarrow k = 1$
 $2^{2k} = 3k + 1 \Rightarrow k = 1$
 $2^{2k} = 3k + 1 \Rightarrow k = 1$
 $2^{2k} = 3k + 1 \Rightarrow k = 1$
 $2^{2k} = 3k + 1 \Rightarrow k = 1$
 $2^{2k} = 3k + 1 \Rightarrow k = 1$
 $2^{2k} = 3k + 1 \Rightarrow k = 1$
 $2^{2k} = 3k + 1 \Rightarrow k = 1$
 $2^{2k} = 3k + 1 \Rightarrow k = 1$
 $2^{2k} = 3k + 1 \Rightarrow k = 1$
 $2^{2k} = 3k + 1 \Rightarrow k = 1$
 $2^{2k} = 3k + 1 \Rightarrow k = 1$
 $2^{2k} = 3k + 1 \Rightarrow k = 1$
 $2^{2k} = 3k + 1 \Rightarrow k = 1$
 $2^{2k} = 3k + 1 \Rightarrow k = 1$
 $2^{2k} = 3k + 1 \Rightarrow k = 1$
 $2^{2k} = 3k + 1 \Rightarrow k = 1 \Rightarrow 1$
 $2^{2k} = 3k + 1 \Rightarrow 1$
 2^{2k}

23. (c) area = $\int_{\pi/4}^{3\pi/4} (\sin^2 x - \cos^2 x) \, dx$

A Trusted Institute of

JEE-Main|Advance|NEET

 $\int_{-\infty}^{2} akx dx$

19. (b)



www.igyanam.com











$$x^{2} = \frac{y}{4}, x^{2} = 9y$$

$$y$$

$$y$$

$$y$$

$$y = 2$$

$$x$$

Area =
$$2\int_{0}^{2} \left(\sqrt{9y} - \sqrt{\frac{y}{4}}\right) dy$$

www.igyanam.com